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Written Methods of Calculation

The new National Programme of study indicates that there is a larger emphasis on traditional
methods of calculation in Mathematics and these skills will be assessed explicitly at all Key Stages
and in specific at KS1 and KS2 in arithmetic papers.

Addition

Traditional methods of column addition should be used as a preferred method as shown below.
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Please note that there should be an emphasis on stating the correct column value when referring to
carrying. l.e. carry 10, 100, 1000 etc not “carry the 1”. The individual steps should also be spoken
about using the correct numerical values instead of 2 digit and single digit numbers.

Other methods such as partitioning and number lines can be used but will not be given credit in
specific questions on the arithmetic paper.



Subtraction

Traditional methods of column subtraction should be used as a preferred method as shown below.
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Please note that there should be an emphasis on stating the correct value of anything ‘borrowed’
from a preceding column. l.e. borrow 10, 100, 1000 etc, not “borrow 1”. The individual steps should
also be spoken about using the correct numerical values instead of 2 digit and single digit numbers.

Other methods such as number lines can be used but will not be given credit in specific questions on

the arithmetic paper.



Multiplication

Formal methods of multiplication should be used as a preferred method as shown below.
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Other methods such as grid method and repeated addition can be used but will not be given credit in

specific questions on the arithmetic paper.



Division

Formal methods of long or short division should be used as a preferred method as shown below.
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Other methods of division such as chunking or repeated subtraction can be used but will not be given
credit in specific questions on the arithmetic paper.



Calculation of percentages of an amount without a calculator

Method 1: Convert the percentage to its decimal by dividing by 100. Then complete long
multiplication with the decimal equivalent and the number you are calculating the percentage of.
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Method 2: Calculate 10%, 1% and 50% by dividing by 10, 100 and 2 respectively. Then use these

percentages to calculate all other percentages.
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Calculation of a fraction of an amount

Divide the amount by the denominator of the fraction by using a division method.



Multiply the result by the numerator.
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Sharing an amount into a given ratio

Calculate the total number of parts by adding each part of the ratio. Divide the amount to be shared



by the total number of parts. Multiply each part of the ratio by the value for each part.
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